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 2 body 

Úloha 1 

Rozložte na součin výraz 
 

(𝑥 − 5)2 − 16 
 

a přiřaďte správný výsledek. 
 

 A) (𝑥 − 9) ∙ (𝑥 − 1) 

 B) 𝑥2 − 10𝑥 + 9 

 C) [(𝑥 − 5)2 − 16] ∙ 1 

___________________________________________________________________________ 
 

(Jeronýmův příklad, podzim 2020)   
 

  A B C  
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Řešení 
 

𝐴2 − 𝐵2 = (𝐴 − 𝐵) ∙ (𝐴 + 𝐵) 
 

(𝑥 − 5)2 − 16 = (𝑥 − 5 − 4) ∙ (𝑥 − 5 + 4) = (𝒙 − 𝟗) ∙ (𝒙 − 𝟏) 

 

Řešení (z cvičných důvodů jinak) 
 

(𝐴 − 𝐵)2 = 𝐴2 − 2𝐴𝐵 + 𝐵2 
 

(𝑥 − 5)2 − 16 = (𝑥2 − 10𝑥 + 25) − 16 = 𝑥2 − 10𝑥 + 9 = 
 

= 𝑥2 − 10𝑥 + 10 − 1 = (𝑥2 − 1) − 10𝑥 − 1 = (𝑥 − 1) ∙ (𝑥 + 1) − 10 ∙ (𝑥 − 1) = 
 

= (𝑥 − 1) ∙ (𝑥 + 1 − 10) = (𝒙 − 𝟏) ∙ (𝒙 − 𝟗) 
 

Výsledek 
 

(𝒙 − 𝟗) ∙ (𝒙 − 𝟏) 
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